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Revised grading scale:
60 items / 2pts = 120; A: 90/120 = 75%: B 80/120 = 66%; C= 70/120=58%
Corrections for items:
14 all ans correct
23 C&C  (I changed PPT slide to correct answer)

Chapters (6) : 7,8,12-15 
3 or four items across chapters for Stand error – to estimate SE mean, moderator, predictor score to true score; diff two means
Y v. yhat 
Vary number of distractors    - 5 or 6
MMR equation; each term

Chapter 7 Validation Use of Individual Differences
 
1. Reliability, Attenuation
2. Validity types: content, criterion-related (two types), construct
a. Compare all
3. Multi-trait/ multi-method; why important/it’s purpose
4. Direct and indirect range restriction
5. Homo & heteroscedasticity
6. meta-analysis
7. file drawer 
8. Stat power-type II & II to reject null
9. Cross validation purpose / methods for cognitive ability

Chapter 8 Fairness in Employment Decisions

1. Differential validity and differential prediction
2. Adverse (disparate) impact 
a. Rule to determine when this exists
3. What scatterplot tells you about nature of validity
4. What figures 8.1 to 8.8 indicate
5. How differential validity is detected
6. How meta-analyses are used in determining differential validity
7. Statistical terms used to determine MMR
a. How they are used and what they indicate
8. Strategies used for reducing adverse impact 
9. Typical statistical differences for cognitive among race/gender/ ethnic groups 
10. What banding is and how sliding bands work
11. Different types of justice and how they are perceived by applicants and employees

Chapter 12 Selection Methods
1. Personal history form contents and fairness
2. Weighted application blank weights
3. Role of credit history, purpose and legality 
4.  Requirements for reference checks to insure fairness and validity
5. Issues with honesty test and predictability for performance
6. CRT (James) and assumptions 
7. Applicant motivational tactics used in employment interviews
8. Relative utility for various predictors such as interviews, reference checks, honesty tests, et.
9. Types of Interviewer biases when rating applicants

Chapter 13 Managerial Selection Methods

1. Cog ability adverse impact
2. Predictive validity for FFM traits for managerial success 
3. Primary variable that mediates conscientiousness and job performance
4. Role of motivation to manager
5. Best predictors to add to cognitive ability
6. Most effective dimensions used with AC 
7. AC training effectiveness
8. Hi fidelity v. low fidelity s

Chapter 14 Decision Making for Selection

1.  Compare compensatory, non-compensatory models (and multiple hurdle/cutoff) and when to use MR  
2. Compare and contrast the relationship between SR and BR in terms of what utility is
3. uses for standard error of estimate and standard error of the mean
4. calculate selection ratio and success rate
5. how suppressor variables work to improve predictability
6. What is Cross validation and what is it used for?

Chapter 15 Training and Development Design
1. Definitions of learning and performance and how they are related to T&D
2. Fundamental requirements for a T&D program
3. Different kinds of needs assessments and the focus of each type
4. Trainer expectations that affect participant outcomes
5. Effectiveness of types of training activities
6. Classic principles of learning
7. Effects of feedback types on learning



Appl 644 sp Final Exam

Chapters 7,8,12,13.14,  (15,17) ?

 
Set up for 10 items/ chap each/ but perhaps 8X6 chaps or 10X 5   + couple extra credit



Chapters 7,8,12,13.14,15,17  (7 chapters)

Chapter 7   1 items covers:
Reliability / attenuation/ def content validity/ concurrent study/ multitrait-method = construct val/ indirect range restriction -predictive study/ homoscedasticity/meta -file drawer / Stat power- reject null/cross val- for cog ability

Chapter 7

1. Reliability is a ______ but not ______ condition for high validity.  
A. required; absolute
B. absolute; required
C. sufficient; necessary
D. necessary; sufficient
Ans: D
Learning Objective: 7-1: Calculate how and why reliability places a ceiling on validity (i.e., accuracy of inferences made based on test scores).
Cognitive Domain: Comprehension
Answer Location: Relationship between Reliability and Validity
Difficulty Level: Medium
AACSB: Application of knowledge

2. (14.  Assuming you will use the test for selection, correct for attenuation. Calculate the estimated true (corrected) validity for a test where the: Observed (obtained) validity coefficient is .20, Criterion reliability is r=.25.  and the test reliability is r = .72     

rxyoo  =  rxy /   ryy  
rxyoo  = 	.20 / sqrt .25	
.20 / .5 = .4


2. Assuming a validity coefficient of .8 and a criterion reliability of .64, correct the validity coefficient for attenuation to see what the validity would have been for a perfectly reliable measure?   rxt = rxy/ √ ryy 
A. .60
B. .72
C. .86
D. 1.0
 Ans: D
   .8 /sq of .64 = .8 /.8 = 1.0 
Include formula
Learning Objective: 7-1: Calculate how and why reliability places a ceiling on validity (i.e., accuracy of inferences made based on test scores).
Cognitive Domain: Analysis
Answer Location: Relationship between Reliability and Validity
Difficulty Level: Medium
AACSB: Application of knowledge

3.  (6). If you are asking SME’s to generate items and/or rate them on how they measure a certain domain, you are MOST likely looking for evidence of which type of validity? 
A. content
B. criterion
C. construct
D. face
Ans: A
Learning Objective: 7-2: Compute empirical estimates of different types of validity evidence: Content, criterion, and construct. 
Cognitive Domain: Application
Answer Location: Content-Related Evidence
Difficulty Level: Medium
AACSB: Application of knowledge

4. (10). You conduct a criterion-related validity study in which you test the applicants with your new measure. Then you hire applicants without using the new measure, measure performance after 6 months, and assess the relationship between the predictor–criterion. Which kind of study is this? 
A. predictive
B. concurrent
C. observational
D. validity generalization
Ans: A
Learning Objective: 7-3: Conduct predictive and concurrent validation studies.
Cognitive Domain: Application
Answer Location: Predictive Studies
Difficulty Level: Easy
AACSB: Application of knowledge

5. (19). If you are using a multitrait–multimethod matrix to determine validity, you are MOST likely testing for which type of validity? 
A. content
B. criterion
C. construct
D. face
Ans: C
Learning Objective: 7-5: Calculate convergent and discriminant validity estimates based on a multitrait–multimethod matrix.
Cognitive Domain: Application
Answer Location: Construct-Related Evidence
Difficulty Level: Medium
AACSB: Application of knowledge

6. (15). You are running a predictive validity study, and so you give applicants your new measure as well as the ones you previously used for selection. Because of the nature of the study, you only use the scores from the previous measure to select, but this leads to most of the low scores on the new measure not being present in the sample when the criterion in measured. This is an example of ______.
A. homoscedasticity 
B. indirect range restriction
C. direct range restriction
D. range enhancement
Ans: B
Learning Objective: 7-4: Minimize the detrimental effects of factors such as range restriction and form of the predictor–criterion relationship (e.g., linear vs. curvilinear) on conclusions about validity.
Cognitive Domain: Application
Answer Location: Range Restriction
Difficulty Level: Hard
AACSB: Application of knowledge

7. (17). Whether or not the data points are distributed throughout the regression line and the measure predicts as well at both high and low ranges is called ______.
A. homoscedasticity 
B. kurtosis
C. direct range restriction
D. range enhancement
Ans: A
Learning Objective: 7-4: Minimize the detrimental effects of factors such as range restriction and form of the predictor–criterion relationship (e.g., linear vs. curvilinear) on conclusions about validity.
Cognitive Domain: Knowledge
Answer Location: Form of the Predictor–Criterion Relationship
Difficulty Level: Easy
AACSB: Application of knowledge

8. (31). In meta-analyses (and thus validity generalization studies), there are often lots of studies that have been conducted but didn’t get published because they did not find significant results. This is known as ______.
A. the criterion problem
B. issues with homoscedasticity 
C. issues with shrinkage 
D. the file drawer problem
Ans: D
Learning Objective: 7-8: Critically evaluate the use of meta-analysis and validity generalization in the validation process.
Cognitive Domain: Comprehension 
Answer Location: Validity Generalization
Difficulty Level: Medium
AACSB: Application of knowledge

9.( 33). The probability of correctly rejecting a null hypothesis when it is, in fact, false is called ______.
A. predictive validity
B. alpha level
C. reliability
D. statistical power
Ans: D
Learning Objective: 7-3: Conduct predictive and concurrent validation studies.
Cognitive Domain: Knowledge
Answer Location: Predictive Studies
Difficulty Level: Easy
AACSB: Application of knowledge

 
10. (25). You have tested how your new measure of cognitive ability predicts performance for your accountants. Now you decide to run a new study to determine if it will also predict performance in your engineers. This process is called ______.
A. validity generalization
B. cross-validation
C. nomological network
D. factor analysis
Ans: B
Learning Objective: 7-6: Obtain cross-validation estimates.
Cognitive Domain: Application 
Answer Location: Cross-validation
Difficulty Level: Medium
AACSB: Application of knowledge

Chapter 8 Fairness in Employment Decisions

11. 1.  When the relationship between the predictor and criterion is different for different groups, this is called ______.
A. differential validity
B. differential prediction
C. adverse impact
D. differential weighting
Ans: A
Learning Objective: 8-1: Assess the presence of differential validity, differential prediction, and adverse impact.
Cognitive Domain: Knowledge
Answer Location: Chapter Opener
Difficulty Level: Easy
AACSB: Making sound decisions 
 
Learning Objective: 8-1: Assess the presence of differential validity, differential prediction, and adverse impact.
Cognitive Domain: Analysis
Answer Location: Assessing Differential Validity
Difficulty Level: Hard
AACSB: Making sound decisions 

12. 4. Determining if adverse impact could potentially exist based on the selection rate of your majority and minority groups is based on the ______ rule.
A. one-half
B. two-thirds
C. four-fifths
D. five-sixths
Ans: C
Learning Objective: 8-1: Assess the presence of differential validity, differential prediction, and adverse impact.
Cognitive Domain: Knowledge
Answer Location: Differential Validity and Adverse Impact
Difficulty Level: Hard
AACSB: Making sound decisions 

13. (24. When weights computed in one sample (i.e., current employees) are used with a second sample from the same population (i.e., job applicants), the multiple correlation coefficient is likely to be smaller. This is called ______.
A. homoscedasticity
B. range enhancement
C. range restriction
D. shrinkage
Ans: D
Learning Objective: 7-6: Obtain cross-validation estimates.
Cognitive Domain: Comprehension 
Answer Location: Cross-validation
Difficulty Level: Easy
AACSB: Application of knowledge



13.   (6) This picture shows what type of relationship between groups and validity of the measure?

 . [image: ]

A. equal validity, unequal predictor means
B. equal predictor means, but positive validity only for the nonminority group
C. positive validity and adverse impact
D. positive validity for entire group; zero validity for each group separately
Ans: D
Learning Objective: 8-1: Assess the presence of differential validity, differential prediction, and adverse impact.
Cognitive Domain: Analysis
Answer Location: Differential Validity and Adverse Impact
Difficulty Level: Hard
AACSB: Making sound decisions 

14. (7. If a predictor shows no validity only for the nonminority group (but zero validity for the minority group), then the predictor ______.
A. should only be used to predict the minority group
B. should only be used to predict the nonminority group
C. should be used to predict for both groups
D. cannot be used at all
Ans: B (corrupt wording) – credit for all options 
Learning Objective: 8-1: Assess the presence of differential validity, differential prediction, and adverse impact.
Cognitive Domain: Comprehension
Answer Location: Differential Validity and Adverse Impact
Difficulty Level: Medium
AACSB: Making sound decisions 

15. 9. Since sample sizes are typically inadequate in any one differential validity study, ______ are often used to determine if differential validity might exist for certain variables. 
A. dominance analyses
B. regression lines
C. meta-analyses
D. multivariate analyses
Ans: C
Learning Objective: 8-8: Use the latest knowledge regarding test fairness to inform HR practices and public policy.
Cognitive Domain: Comprehension
Answer Location: Differential Validity: The Evidence
Difficulty Level: Medium
AACSB: Making sound decisions 

16. 12. Which of these can show possible predictive bias among groups when using moderated multiple regression? 
A. slope differences between subgroups only
B. intercept differences between subgroups only
C. both slope and intercept differences
D. neither slope nor intercept differences can tell you this
Ans: C
Learning Objective: 8-8: Use the latest knowledge regarding test fairness to inform HR practices and public policy.
Cognitive Domain: Comprehension
Answer Location: Assessing Differential Prediction and Moderator Variables
Difficulty Level: Medium
AACSB: Making sound decisions 

17. In the following equation Ŷ = a + b1X + b2Z + b3X⋅Z, what is the term b2Z

A. primary predictor
B. predicted criterion
C. intercept
D. moderator
 Ans: D

17. 19. All of the following are strategies for reducing adverse impact EXCEPT ______.
A. improve the recruiting strategy for minorities
B. use differential weighting for the various criterion facet
C. use cognitive abilities in combination with noncognitive predictors
D. reduce face validity to prevent faking
Ans: D
Learning Objective: 8-4: Plan and execute strategies aimed at reducing adverse impact.
Cognitive Domain: Comprehension
Answer Location: Further Considerations Regarding Adverse Impact, Differential Validity, and Differential Prediction 
Difficulty Level: Medium
AACSB: Making sound decisions 

18. (21. According to at least one study published in 2015, Black–White differences in cognitive ability tests show up as early as ______.
A. 24 months
B. 54 months
C. 7 years 
D. 10 years
Ans: B
Learning Objective: 8-4: Plan and execute strategies aimed at reducing adverse impact.
Cognitive Domain: Knowledge
Answer Location: Further Considerations Regarding Adverse Impact, Differential Validity, and Differential Prediction 
Difficulty Level: Medium
AACSB: Making sound decisions 

18. (27. Which type of justice says that test takers, applicants, and employees perceive the outcomes, such as hiring and promotions, to be fair? 
A. social
B. interactional
C. procedural
D. distributive
Ans: D
Learning Objective: 8-6: Distinguish among different types of fairness perceptions and create selection systems that address each.
Cognitive Domain: Knowledge
Answer Location: Fairness and the Interpersonal Context of Employment Testing
Difficulty Level: Easy
AACSB: Making sound decisions 


19. (23) You are selecting one new manager for your department. You run a regression with multiple predictors, but instead of just selecting the top score, you create a group within one standard error for the difference of the top score and treat them all equal. You then select from this group for your manager position. This describes the ______.
criterion-referenced banding model
A. compensatory banding
B. sliding-band method
C. validity-referenced banding model
D. bottom-up banding method
Ans: B
Learning Objective: 8-5: Implement test-score banding based on technical and legal guidelines. 
Cognitive Domain: Application
Answer Location: Minimizing Adverse Impact Through Test-Score Banding 
Difficulty Level: Medium
AACSB: Making sound decisions 

20. In the following equation Ŷ = a + b1X + b2Z + b3X⋅Z, what is the term a represent?

A. primary predictor
B. predicted criterion
C. intercept
D. moderator
E. interactor
Ans:  C


Chapter 12 Selection Methods

21. (2. All of the following are types of questions you might find on a personal history form EXCEPT ______.
A. historical
B. hypothetical
C. personality
D. internal
Ans: C
Learning Objective: 12-1: Gather personal history data from job applicants in a manner that minimizes distortions and embellishments.
Cognitive Domain: Knowledge
Answer Location: Personal History Data
Difficulty Level: Easy
AACSB: Written and oral communication 

22. (4. In Weighted Application Blanks, a total score is derived for each individual after each item is weighed based on ______.
A. a unit weighting of one
B. the predictive power of each item 
C. an estimate of how important each item is
D. a random number generator 
Ans: B
Learning Objective: 12-1: Gather personal history data from job applicants in a manner that minimizes distortions and embellishments.
Cognitive Domain: Knowledge
Answer Location: Weighted Application Blanks
Difficulty Level: Easy
AACSB: Application of knowledge

23. (7. The main reason organizations use credit history as a part of personal history data is to predict the applicants’ ______.
A. conscientiousness and integrity
B. integrity and financial stability
C. conscientiousness and financial stability
D. financial stability and criminal record
Ans: A   (Page 280 –change PPT slide #7( credit for A or C)
Learning Objective: 12-1: Gather personal history data from job applicants in a manner that minimizes distortions and embellishments.
Cognitive Domain: Comprehension
Answer Location: Credit History
Difficulty Level: Medium
AACSB: Ethical understanding and reasoning

24. In the following equation Ŷ = a + b1X + b2Z + b3X⋅Z, what is the term Ŷ represent?

A. primary predictor
B. predicted criterion
C. intercept
D. interactor
Ans:  B


24. 11. Which of the following is true about personal history data and adverse impact? 
A. They show clear evidence of adverse impact.
B. Most studies of their adverse impact have been done in concurrent validity designs. 
C. They can be used in selection even if they are not related to the job.  
D. It is wise to use an entirely empirical approach to constructing biodata inventories. 
Ans: B
Learning Objective: 12-1: Gather personal history data from job applicants in a manner that minimizes distortions and embellishments.
Cognitive Domain: Analysis
Answer Location: Bias and Adverse Impact
Difficulty Level: Hard
AACSB: Ethical understanding and reasoning

25. (15. Reference checks should be ______, meaning they are applied equally for all potential applicants. 
A. consistent
B. written
C. based on public record
D. relevant

Ans: A
Learning Objective: 12-2: Assess letters of recommendation and reference checks in terms of factors that affect their validity (e.g., degree of writer familiarity with the candidate and job in question).
Cognitive Domain: Knowledge
Answer Location: Recommendations and Reference checks
Difficulty Level: Easy
AACSB: Ethical understanding and reasoning

26. (18. Which of the following is an issue involving the use of honesty tests and their prediction of performance facets? 
A. Men tend to score higher than women on them. 
B. It is not possible for someone to change their past honesty behaviors.
C. A greater understanding of construct validity of the tests is needed. 
D. They do not have high enough relations to performance-related variables to be useful.

Ans: C
Learning Objective: 12-3: Choose an appropriate honesty test (e.g., overt vs. personality oriented).
Cognitive Domain: Comprehension
Answer Location: Honesty Tests
Difficulty Level: Hard
AACSB: Ethical understanding and reasoning

27. (19. You give your applicants a problem to solve, but your true purpose is to discover their implicit biases and assess honesty. This is an example of a ______.
A. conditional reasoning test (CRT)
B. situational judgment test
C. cognitive ability test
D. leaderless group test

Ans: A
Learning Objective: 12-3: Choose an appropriate honesty test (e.g., overt vs. personality oriented).
Cognitive Domain: Application
Answer Location: Honesty Tests
Difficulty Level: Medium
AACSB: Ethical understanding and reasoning

28. 25. Interviewees often want to present themselves in a positive light, which is called ______.
A. influence tactics
B. social desirability bias
C. impression management
D. cognitive reasoning
Ans: B
Learning Objective: 12-6: Design and implement employment interviews taking into account possible response distortion and considering social/interpersonal, cognitive, and individual differences that affect the process and outcomes of interviews.
Cognitive Domain: Knowledge
Answer Location: Response Distortion in the Interview
Difficulty Level: Easy
AACSB: Written and oral communication

29. (35. Which of these is the best predictor of job performance?
A. structured interviews
B. polygraph tests
C. reference checks
D. unstructured interviews
Ans: A
Learning Objective: 12-7: Administer structured employment interviews that maximize validity and reliability. 
Cognitive Domain: Analysis
Answer Location: Effects of Structure
Difficulty Level: Hard
AACSB: Written and oral communication 

30. 29. Interviewers develop their own biases about what a good applicant looks like and then look for those who match that description. This is called a ______.
A. prototype
B. stereotype
C. contrast effect
D. confirmatory bias
Ans: A
Learning Objective: 12-6: Design and implement employment interviews taking into account possible response distortion and considering social/interpersonal, cognitive, and individual differences that affect the process and outcomes of interviews.
Cognitive Domain: Knowledge
Answer Location: Prototypes and Stereotypes
Difficulty Level: Easy
AACSB: Ethical understanding and reasoning

Chapter 13 Managerial selection
31. 5. The biggest potential issue using general mental ability tests for selection is because ______.
A. they are not very reliable
B. they are not significantly related to performance
C. they are not seen to face valid or job relevant by applicants
D. they often show adverse impact
Ans: D
Learning Objective: 13-2: Use cognitive ability tests to predict managerial performance, considering challenges associated with this type of tool.
Cognitive Domain: Comprehension
Answer Location: Controversial Issues in the Use of Cognitive Ability Tests
Difficulty Level: Medium
AACSB: Application of knowledge 

32. 7. c 
A. extroversion
B. agreeableness
C. conscientiousness
D. openness to experience
Ans: C
Learning Objective: 13-3: Use objective personality inventories to measure several types of traits. 
Cognitive Domain: Knowledge
Answer Location: Objective Personality Inventories
AACSB: Application of knowledge 

33. (8. . Which personality trait has the lowest relationship to leadership? 
A. emotional stability
B. agreeableness
C. conscientiousness
D. openness to experience
Ans: B
Learning Objective: 13-3: Use objective personality inventories to measure several types of traits. 
Cognitive Domain: Comprehension
Answer Location: Objective Personality Inventories
Difficulty Level: Medium
AACSB: Application of knowledge 

34 (9. Which variable is generally considered to mediate the relationship between conscientiousness and job performance scores? 
A. motivation to strive for accomplishments
B. leadership behaviors
C. locus of control
D. core self-evaluation
Ans: A
Learning Objective: 13-3: Use objective personality inventories to measure several types of traits. 
Cognitive Domain: Comprehension
Answer Location: Objective Personality Inventories
Difficulty Level: Medium
AACSB: Application of knowledge 

35. (14. If a manager is good at helping subordinates define their roles and focusing on a goal attainment, then they are exhibiting which managerial behavior? 
A. initiating structure
B. providing consideration
C. motivation to manage
D. Machiavellianism
Ans: A
Learning Objective: 13-5: Predict managerial and leadership success using alternative predictors, such as leadership ability tests, motivation to manage, personal history data, and peer assessments.
Cognitive Domain: Application
Answer Location: Leadership Ability Tests
Difficulty Level: Easy
AACSB: Application of knowledge 

36. 16. Motivation to Manage is typically measured with which scale? 
A. Leadership Opinion Questionnaire
B. Situational Judgment Test
C. Motivation to Lead
D. The Miner Sentence Completion Scale
Ans: D
Learning Objective: 13-5: Predict managerial and leadership success using alternative predictors, such as leadership ability tests, motivation to manage, personal history data, and peer assessments.
Cognitive Domain: Knowledge
Answer Location: Motivation to Manage
Difficulty Level: Easy
AACSB: Application of knowledge 

37. (22. The extent to which a work sample mirrors actual job conditions is called ______.
A. bandwidth
B. fidelity
C. task specificity
D. necessary experience
Ans: B
Learning Objective: 13-6: Use work samples of managerial performance (i.e., leaderless group discussion, in-basket test, business games, and situational judgment tests) to predict future performance.
Cognitive Domain: Knowledge
Answer Location: Work Samples of Managerial Performance
Difficulty Level: Easy 
AACSB: Application of knowledge 


38.  (35. This dimension of Assessment Centers has shown to be the most valid and contribute to more variance in the criterion ______.
A. drive
B. problem-solving
C. communication
D. influencing others
Ans: B
Learning Objective: 13-7: Predict future managerial performance using the assessment center method.
Cognitive Domain: Knowledge 
Answer Location: Validity
Difficulty Level: Medium
AACSB: Systems and processes in organizations  

39 (38. Which of the following shows the best combined total prediction of overall job performance when combined with a general cognitive ability test based on Schmidt and Hunter? 
A. structured interviews
B. assessment centers
C. years of education
D. reference checks
Ans: A
Learning Objective: 13-1: Design managerial selection systems that predict objective and subjective criteria.
Cognitive Domain: Comprehension
Answer Location: Combining Predictors
Difficulty Level: Hard
AACSB: Systems and processes in organizations  

40 (32. Research shows that which type of training, which gives raters a standard on which to base their assessment ratings on, is also effective for assessment centers? 
A. frame of reference training
B. rater error training
C. development centers
D. behavioral coding
Ans: A
Learning Objective: 13-7: Predict future managerial performance using the assessment center method.
Cognitive Domain: Knowledge 
Answer Location: Assessors and Their Training
Difficulty Level: Medium
AACSB: Systems and processes in organizations  


Chapter 14 Decision Making for Selection


41.(6. When a predictor–criterion relationship is confirmed in another, different sample, this is called ______.
A. predictive validation
B. multiple hurdles
C. cross-validation
D. multiple regression
Ans: C
Learning Objective: 14-1: Implement multiple-regression, multiple-cutoff, and multiple-hurdle approaches to forecast future performance.
Cognitive Domain: Knowledge
Answer Location: Classical Approach to Personnel Selection
Difficulty Level: Easy
AACSB: Application of knowledge 


42. (2. Personnel selection is based on the rationale of ______.
A. organizational differences
B. personality differences
C. societal differences
D. individual differences
Ans: D
Learning Objective: 14-1: Implement multiple-regression, multiple-cutoff, and multiple-hurdle approaches to forecast future performance.
Cognitive Domain: Comprehension
Answer Location: Classical Approach to Personnel Selection
Difficulty Level: Easy
AACSB: Application of knowledge 


43 (8. Suppressor variables are ______.
A. related to the criterion
B. related to a predictor
C. not related to any of the variables in the regression
D. inflating relationships between other predictors and the criterion
Ans: B
Learning Objective: 14-1: Implement multiple-regression, multiple-cutoff, and multiple-hurdle approaches to forecast future performance.
Cognitive Domain: Comprehension
Answer Location: Suppressor Variables
Difficulty Level: Medium
AACSB: Application of knowledge 

44. (11. The multiple regression approach is ______, meaning someone can make up for a low score on one predictor with a higher one on another. 
A. concurrent
B. compensatory
C. linear
D. inflective
Ans: B
Learning Objective: 14-1: Implement multiple-regression, multiple-cutoff, and multiple-hurdle approaches to forecast future performance.
Cognitive Domain: Knowledge
Answer Location: Multiple-Regression Approach
Difficulty Level: Easy
AACSB: Application of knowledge 

45. (17. The proportion of variance explained by the criterion is represented by ______.
A. multiple R
B. correlation coefficient r
C. 2 
D. the standard error
Ans: A
Learning Objective: 14-3: Calculate selection ratios and base rates—critical components of any forecasting system.
Cognitive Domain: Knowledge
Answer Location: Extending the Classical Validity Approach to Selection Decisions: Decision-Theory Approach
Difficulty Level: Easy
AACSB: Application of knowledge 

[bookmark: _Hlk69811832]46. 21. An organization has 100 applicants for a given job. They hire 40 of them, and 20 of those are successful. What is the success rate for this example?
A. .50
B. .40
C. .20
D. .10
Ans: A
Learning Objective: 14-3: Calculate selection ratios and base rates—critical components of any forecasting system.
Cognitive Domain: Application
Answer Location: Extending the Classical Validity Approach to Selection Decisions: Decision-Theory Approach
Difficulty Level: Hard
AACSB: Evidence-based decision making 

47. (24. When we determine how much actual performance ratings differ from the predictions made by our selection procedures (as opposed to not using relevant knowledge for prediction), we use what statistics? 
A. multiple R estimate of predictability
B. standard error of estimate
C. standard error of the mean
D. standard deviation of the mean
E. Standard error of measurement
Ans: B
Learning Objective: 14-4: Calculate the precise inflection point where the predictor-criterion relation is no longer positive.
Cognitive Domain: Comprehension
Answer Location: Evaluation of the Decision-Theory Approach
Difficulty Level: Medium
AACSB: Application of knowledge 

48. (25. Utility is defined as the degree to which a selection device’s use ______.
A. enhances the recruitment efforts to include more individuals to choose from 
B. creates opportunities for applicants to get a more realistic job preview 
C. improves the quality of the individuals selected beyond what would occur without using it 
D. makes the organization more efficient overall 
Ans: C
Learning Objective: 14-5: Conduct a utility analysis to understand the financial impact of selection decisions. 
Cognitive Domain: Knowledge
Answer Location: Understanding Outcomes of Selection Decisions: Utility Analysis
Difficulty Level: Easy
AACSB: Application of knowledge 

49. (33. Expected utility of a selection measure will likely be lower than anticipated/calculated in real life because ______.
A. the tests/device do not work as well as we think
B. inflation plays a role that isn’t being anticipated
C. some of the highest scoring applicants will turn down the offers
D. the selection ratio may be too low
Ans: C
Learning Objective: 14-8: Adopt a broader multi-attribute, compared to a single-attribute, utility analysis that considers multiple stakeholders and success criteria.
Cognitive Domain: Comprehension
Answer Location: Top Scorers May Turn Down the Offer
Difficulty Level: Hard
AACSB: Evidenced-based decision making 

50. (36. Which is the proportion of persons judged successful using current selection procedures? 
A. base rate
B. selection ratio
C. success rate
D. multiple regression
Ans: A
Learning Objective: 14-3: Calculate selection ratios and base rates—critical components of any forecasting system.
Cognitive Domain: Knowledge
Answer Location: Extending the Classical Validity Approach to Selection Decisions: Decision-Theory Approach
Difficulty Level: Easy
AACSB: Evidenced-based decision making 


Chapter 15 Training and Development Design
51. (2. ______ is the ability to perform and is available over a long period of time. 
A. Learning
B. Performance
C. Behavior
[bookmark: _gjdgxs]D. Knowledge
Ans: A
Learning Objective: 15-1: Identify key factors that are driving the demand for well-designed and well-executed programs of workplace learning.
Cognitive Domain: Knowledge
Answer Location: Training and Development Activities: What Are They?
Difficulty Level: Medium
AACSB: Systems and processes in organizations

52. (3. The ultimate goal of a training program is ______. 
A. learning
B. transfer of training
C. behavior
D. performance
Ans: D
Learning Objective: 15-2: Explain what training and development activities are.
Cognitive Domain: Analysis
Answer Location: Additional Determinants of Effective Training
Difficulty Level: Medium
AACSB: Systems and processes in organizations

53, Which kind of need identifies the specific content of the training? 
A. operations analysis
B. organization analysis
C. demographic analysis
D. person/individual analysis
Ans: A
Learning Objective: 15-4: Assess training needs and specify training objectives.
Cognitive Domain: Knowledge
Answer Location: Assessing Training Needs
Difficulty Level: Easy
AACSB: Systems and processes in organizations

54. (10. An HR manager goes through his workforce and asks what knowledge, skills, and abilities they feel they are the most deficient/in need of training in. This is MOST likely which type of needs assessment? 
A. operations analysis
B. organization analysis
C. demographic analysis
D. individual analysis
Ans: D
Learning Objective: 15-4: Assess training needs and specify training objectives.
Cognitive Domain: Application
Answer Location: Assessing Training Needs
Difficulty Level: Medium
AACSB: Systems and processes in organizations

55. (5. A well-executed training program should start begin with ______.
A. a needs assessment
B. the selection and design of the instructional program
C. the development of criteria
D. goal setting for the objectives of training
Ans: A
Learning Objective: 15-3: Illustrate the fundamental requirements of sound training practice.
Cognitive Domain: Knowledge
Answer Location: Fundamental Requirements of Sound Training Practice
Difficulty Level: Easy
AACSB: Systems and processes in organizations

56. (16. In your training, you have employees get trained on the tasks that aren’t necessarily part of their job, but that their coworkers need to do to create a shared understanding among team members. This is called ______.
A. social reinforcement
B. cross-training
C. guided team self-correction
D. team-coordination training
Ans: B
Learning Objective: 15-6: Specify key elements of successful team training.
Cognitive Domain: Application
Answer Location: Team Training
Difficulty Level: Medium
AACSB: Systems and processes in organizations

57. (22. If the trainer expects the trainee to do well, and so they are more likely to do well in the training, this is an example of the ______.
A. halo effect
B. Galatea effect
C. contrast effect
D. Pygmalion effect
Ans: D
Learning Objective: 15-7: Incorporate classic principles of learning into all training designs.
Cognitive Domain: Application
Answer Location: Goal Setting 
Difficulty Level: Medium
AACSB: Systems and processes in organizations

58. (18. Which type of training activity has been shown to increase post-training self-efficacy, knowledge of facts, and retention?
A. in-basket task 
B. lecture presentation
C. guided self-correction
D. simulation games
Ans: D
Learning Objective: 15-7: Incorporate classic principles of learning into all training designs.
Cognitive Domain: Knowledge
Answer Location: Learning and Individual Differences
Difficulty Level: Medium
AACSB: Systems and processes in organizations

59. (27. Generally, the research suggests that distributed practice leads to ______ learning compared to massed practice.
A. worse
B. better
C. similar
D. error-free
Ans: B
Learning Objective: 15-7: Incorporate classic principles of learning into all training designs.
Cognitive Domain: Comprehension
Answer Location: Length of the Practice Session 
Difficulty Level: Easy
AACSB: Systems and processes in organizations

 60. (29. Which is a true finding based on the research presented in the training design chapter? 
A. More feedback is always better. 
B. Immediate feedback may not be appropriate for all learners. 
C. Performers rarely proactively seek out feedback. 
D. To be accepted by performers, negative information should be presented before positive.
Ans: B
Learning Objective: 15-7: Incorporate classic principles of learning into all training designs.
Cognitive Domain: Analysis
Answer Location: Feedback 
Difficulty Level: Hard
AACSB: Systems and processes in organizations
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